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General instructions

. Please read the given instructions carefully and adhere to them.

. All the questions are compulsory.

. This paper contains 31 questions.

. This question paper has been divided into four sections - section A,B,C and section D.

. Section A contains 15 objective questions and each question carries one mark each.

. Section B contains question 16 to question 22 and each question carries 2 marks each.
. Section C contains questions 23 to 29 and each question carries 3 marks each.

. Section D contains question no. 30 and 31, each question carries 5 marks each.

9. Section B and C have two questions each of internal choice. Attempt any one.

10. Section D carries two questions ,each with an internal choice . You can attempt any question
of your choice.
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Part-A (T3-%)
a—g’fawd’m g

( Multiple Choice Questions)

1..FHTST & ATHOT, gT-eeT 3T AT gait & el ATHI A 8T B1ot aTell 3R Fehol BISe ATel
sfalt Y smaeiT fearerat 3 TR TR aF Tt RIET & are Y v e )

(a) ICDS

(b) ICMR

(c) DFID

(d) KGBV

It is a scheme to bring the never enrolled and school drop out girls from rural, remote and
disadvantaged sections of the society into school education up to elementary level in residential
schools.

(a) ICDS
(b) ICMR
(c) DFID
(d) KGBV

2. Gey vert # ol & § 3UTEU USISAl $1 aifdfafer ... ... s e g
a.pHW
b.dq
c.pH T d@ @
d.sTH 9T

Enzymes activity depends on ...... in food products?
a. pH
b. Temperature
c. pH and Temperature
d. Moisture

3. FXEAE VT AT feohahl shall & giem 872
a. Refaa-t i Far
b. 9ET T FHHT
c. [aerfaa-3r fr T
d. 51T Td NET Fr Hat|

Marasmus disease is mainly caused by a deficiency of ?

a. Vitamin-A deficiency

b. Protein deficiency

¢ Vitamin-D deficiency

d Energy and protein deficiency.

4. BT Hrag AN N FT THIT & AT EN B FETar gl
a. thsq



b.fafarse Qe
c. RgFEaa A
d. $herer

The style of fashion which lasts for a short time is called..........
a. Fads
b. Typical style
c. Traditional style

d. Fashion
5. TSERT YISITAT T 7S FRWT (VA Y. TF.) Tl e IR FhT 1T §2
a. 2020 H b. 2022 H
c.2021 # d. 2023 # |
When has the new National Curriculum Framework (NCF) been prepared?
a. In 2020 b. In 2022
c. In 2021 d. In 2023.
6. HUYUT & 877 H shifd fohdel AT &r g2
a d e b eI o
c AlETgd o d IS AT

Which of these has brought a revolution in the field of Communication?
(a) The Press (b) Technology  (c) Mobile (d ) None of these.

Fill in the blanks-:
R TAUTeT arer ¥eat-:

(G ECSCIE ) SR WWWW%’?

Teh 2le¢ H 31 SIfoTu-:
Give one word/ one line Answer

10. HACCP &1 X1 #1TH &1 52
What is the full form of HACCP?

11. JhfcTes ST FAT BT &2
What is Substitute Care?

12, FT T TRRETHI o oATH FdAT3T?



Name some Household Preservatives.

HTAFYA-FROT dTel T2

(Assertion & Reason Based Questions)

S ST 31T g2t 7 31fARYT (A) dUT SROT (R) & ¥ H al-al FUA GU a0 §| IGU 7w [asveat A @
T 3R FT TIA HIfoTu-

13. JTAEHYT (A): FHUST T SWHT Td TG 3eT ST & 3T, TN o FehR, FHYST geiet I TAfe,
3T W U a7v fAdy gfetor va 3ereh 3uter oX IR A g

ROT (R): Fust $r fafrse fawdn3ii st 10 I@=r & forw 3e7ehr 3faa Sw@errer va I@@ g et
9gd Aeca T &
3 I Yoi1d = T 10 fashodl # & Sifre-

(a) 31ToFY (A) 3R HROT (R) ST TET & 3R SROT (R), 31HFUA (A) Fr TET e g |

(b) 31TAHUT (A) 3R HROT (R) ST TET & SifaheT ROT (R), 3TRFHUT (A) ST T AT 781 2
(c) 3THFUA (A) TET & AfheA HROT (R) T B

(d) 3TARUT (A) T § AT HROT (R) TET &

In the questions given below, two statements each are given as Assertion (A) and Reason (R).
Choose the correct answer from the given options-

Assertion (A): Care and maintenance of clothes depend on the type of fibres, threads, method
of weaving, special training done on them and their use.

Reason (R): Proper care and maintenance of clothes is very important to maintain their special
characteristics.

Choose the answer from the options given below-

a. Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation
of Assertion (A).

b. Both Assertion (A) and Reason (R) are correct but Reason (R) is not the correct
explanation of Assertion (A).

c. Assertion (A) is correct but Reason (R) is wrong.

d. Assertion (A) is wrong but Reason (R) is correct.

Tt 14. ITRFHUT (A): TR H IS FHI T gled T IS ATHE 9T 8T AT § | SHHA ATSIIS
AT ol STl § FH S YRRITFGT gieAfeT o HET & THIAT AT 8 |
HROT (R): o913 197 F&aT 3R orsfohat &1 318 grar g

TEY 3R I IoATd A feT 91w fashedt 7 & AfSiw-



. 3fARU (A) 3R FROT (R) AT TG & 3R HROT (R), JTARTA (A) Hr TeT & ¢ |

. AfAFYT (A) 3R FROT (R) ST TET § Sifched HROT (R), 3TABAT (A) ST TEY cIT&AT 781 g
. 3ifAFHY (A) TE § AifShet FROT (R) Tl B

. 3RS (A) ITeld & Afhed HROT (R) TET L

o 0 T o

Assertion (A): Lack of lodine in the diet causes a disease called Goiter. In this, the thyroid gland
swells because thyroxine hormone is secreted in less quantity.

Reason (R): Goiter disease occurs more in women and girls.
Choose the correct answer from the options given below-

a. Both assertion (A) and reason (R) are correct and reason (R) is the correct explanation
of assertion (A).

b. Both assertion (A) and reason (R) are correct but reason (R) is not the correct
explanation of assertion (A).

c. Assertion (A) is correct but reason (R) is wrong.

d. Assertion (A) is wrong but reason (R) is correct.

T2t 1537 R (A): ARCTSH & a1 &8 T T C@TS T §, T8 TSI Al 7 3T aTelr Threr Hr
foT &Y AW aRere e & T4 & FROT 1T 8

RO (R): SEEEN oId SieTcll & STeT 37TehTer & Ueh 3R aTHRer 31X q@dy 3 G T Uit fovemercl €,
forad g r fonot anfer &r et & srafafda g g1
HE T T AT A1l fw a7 Tt 7 § FfSw-

. 31fAwU (A) 3R FROT (R) AT TET & 31 HROT (R), JTARTA (A) Hr TET I&AT ¢ |

. ATAFY (A) 3R HROT (R) ST TEY & oifeheT HROT (R), 3TTARUA (A) FI T carear A&7 g
. 3TAFY=T (A) TEY & AfFeT HROT (R) 190 &

. 3fAFYA (A) Teld & feheT HROT (R) TETF |

o 0 T o

Assertion (A): The colour we see through the brain is due to the mixing of particular
wavelengths of light rays coming from the light source.

Reason (R): Rainbow is formed when there is rain on one side of the sky and sunlight on the
other, due to which the sun rays are reflected by the raindrops.

Choose the correct answer from the options given below-

a. Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation
of Assertion (A).

b. Both Assertion (A) and Reason (R) are correct but Reason (R) is not the correct
explanation of Assertion (A).

c. Assertion (A) is correct but Reason (R) is wrong.



d. Assertion (A) is wrong but Reason (R) is correct.

Part-B (T3-9)
AT TELRIHS TR
(Very Short Answer Type Questions)

16. 3ATATT & g & ST&TOT TATHN?

Write any two characteristics of entrepreneurs?

17. AR H T Ig UIYOT FIRIHHAT & oITH SdT3i?

Name some Nutritional Programs run by our Indian Government.

18. 3TER RAfehcar o aRea #i|
Define Diet Therapy?

19. ITEAT i @l 3R TEIWE o & Tge] FT 5?2
What are the two aspects of care and maintenance of clothes?

20. fATfAT FOWUT fohcet bR T 81T 872

How many types of Corporate Communication?

21. TH.31.09 91 311q W Ale fora@r|
Write a short note on ‘SOS’ Children Village'.

OR
deee 3 IS W Ale for@r?

Write a short note on ‘Pentane Shade Card’.

22, TIATATHFH & FIT T B |
What are the advantages of Ergonomics?
OR
HATAhIRIOT T F1 AT 2 S Hlefeh TAegl o oATH TAT3N?

What is meant by standardization? Name some standardized marks?

Part-C (@3-37)
W 9%t
( Short Answer Type Questions)

23. 3 Reet taa9d &1 i HL|
Explain Red Ribbon Express.

24. AT va G 3MER 7 37 HAR &2
What is the difference between a Regular and Modified diet?

25. @IET HHC Hicd-hied H §2 JUIT |



How many types of food Hazards? Explain.

26. 37TafY Tk 1 Hia-pleT T 37aEUTT &2

How many stages of ‘Guest Cycle’ ?

27. STCIATTEAT AT U FALTT T 3T Aged &2
What is the importance of Early Childhood Care and Education (ECCE)?

OR
HRA H Za3it o fIT TelTv STe arel JoqQ HTRAHH Pid-hid T E?
What type of programs are run for Indian youth? Explain some famous Youth programmes?

28. Q3 &A1 AT Tohtel aient GarT feam ST g2

What are the methods of feeding patients?
OR
fEoTmseT & Rigtid Hid-aieT ¥ §2 el diel &I [AEAR Jde quie] {?

What are the Principles of Design? Explain any three in detail.

29.qﬁa?r3ﬁ|‘r3;q’rwﬁwaﬁa\-*|;rm%?

What do you mean by Protein- Energy- Malnutrition?

Part-D (T3-9)
& ITRTcAS et
( Long Answer Type Questions)

30. 3TsIeFaT GL&T0T 31TATATH (CPA) T &, 30 dgd SYRIFAT3T & hisd-dhisT T FTFR T
forw a1T &2 auia #1?

What is the Consumer Protection Act (CPA)? What type of Consumer rights are provided by this
Act? Explain.

OR
Teg HIETOT & T o187/ Hged &2 aEar qdeh ot |
What are the advantages/ Importance of Food Preservation? Describe elaborately.

31. TRl &I I T&IT & 37X SIfSIT - (Write short -note on any two)

a. hereT I (Fashion Cycle)

b. 319fFs0T / fAemac (Food Adulteration)

C. ¥ 3rYar fqudid {1 AIsfer (Complementary colour scheme)
d. CAC (Codex Alimentarius Commission)

OR
R 37T & AT H foheT NYOT FHTAT3N T JTHAT T TET & ? ool g T Ui |

What type of Nutritional problems are faced by India nowadays? Explain any two in detail.




